SUNON.

75X75X30 mm

B Specification

Model Bearing Vi?ttaege CPL?rV:eer:t ConF;(l)J\;Vneprtion Speed Airflow Prset:lstijcre Noise | Weight | Curve
Shas ple) (mA) (WATTS) (RPM) (CFM)  (inch-H20) (dB(A)) (G))
PF75301B1-1B000-A99 ® 12 200 2.40 3400 15.5 0.57 42.0 85.0 1
PF75301B2-1B000-A99 ® 12 142 1.71 3000 13.8 0.43 38.6 85.0 2
PF75301B3-1B000-A99 ® 12 82 0.99 2400 10.8 0.24 32.9 85.0 3
PF75302B1-1B000-A99 ® 24 115 2.76 3400 155 0.57 42.0 88.0 1
PF75302B2-1B000-A99 © 24 80 1.92 3000 13.8 0.43 38.6 88.0 2
PF75302B3-1B000-A99 © 24 47 1.13 2400 10.8 0.24 32.9 88.0 3

M Function RType:F99  FType:G99  PWM:H99, Q99, S99

[l Air Flow-Static Pressure Characteristics [l External dimensions(mm)
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% All model could be customized. Please contact with Sunon Sales.
% Specifications are subject to change without notice. Please Visit SUNON website at www.sunon.com for update information.
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SUNON.

B RD / FG Output Signal

Fan User System [ FG Signal ]
(12v)
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y RD / FG Output Ra Voltage o R SV
. (-) (24v) T1 . T2 . T3 . T4 |
V= 27.6V MAX I T = 1 Rotatiol I
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B PWM Input Signal
User System Fan \4 A
(+) v, — —
PWM Input J_I_l_l_ \A
Isource D t1 t2 o
- | - Vy=2.1~6V
“) - T - V,=0-~0.4V
PWM FREQUENCY: 25KHZ i 1
1. Period : T= — =tl1+t2(sec)
Isource=0.5mA at PWM Input Voltage OV f rwm
The speed is default to be maximum if PWM input pin is unconnected.
Min. start up duty cycle is 10%. t1 t1
2. Duty Cycle (D.C.) : ———— x100= —— x100(%)
t1+t2 T
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